Algebra 2 Final Exam Review – 2010 Semester 1
A.
Accurately sketch each and write the coordinate of the locator point
1.  y = x2 - 3
  
2.  y = (x – 3)2 + 2
 
3.  y = 
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4.  y = 
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B.
If f (x) = 3x – 7 and g (x) = x2 + 2x – 8:
5. 
Find f(3)
6.
g(-2)

7.
g(f(x))

8. g(4x)

C.
Where do the lines intersect?  Solve the system of equations

9. 
 y = x + 3

 10.  
4x + 10y = 20

11. 
x + y + z = 4


 y = - 2x + 6


2x + 3y = 6

      
2x + 3y – z = 13

    




      


      
4x – 2y + z = 7  

12.
What does your solution point from #9 represent in the graph of the equations?

 D.
Find the equation of the line in standard form Ax + By = C through the point 


(3, 4) and …….
13.  Parallel to 2x – 5y = 10

14.  Perpendicular to the line y = 
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x – 8
E.
Sketch the following on the same set of axes

15.
y 
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16.
x 
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18.   Find the area of the enclosed region: 
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F.
Solve for x, and then graph the solution on a number line:

19.  5x – 2 > 3x -7 

20.  2x + 8 
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21.  
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22.  
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23.  
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24.
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25.  
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26.  
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G.
Equation of parabolas y = a(x-h)2   + k 

27.
Write the equation of each parabola given its vertex of (3,4) and Point (1,12).
H.
Complete the square

28.  
x2 + 8x = 5
>>>>
(x2 + 8x + ___) = 5 + 
___
29.
Rewrite in  y = a(x-h)2   + k form by completing the square
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30.
Rewrite in  y = a(x-h)2   + k form by using h = –b/2a   


 y = x2 + 8x + 5
I.
Solve for x by factoring or find the zeros/roots
31.  x2 – 7x – 18 = 0
      32.  x2 – 16 = 0
    33. 4x2 – 9 = 0
34.  y =3x2 – 11x + 6  

J.
Solve by using algebra
35.  x2 – 25 = 0
36.  3x2 – 12 = 0
37.  x2 - 24 = 5x
38.  5x -3(x – 5) = 6

K.
Solve using the quadratic formula (simplify your answers)
39. 
3x2 – 5x - 2 = 0 

40.  x2 - 2x + 5 = 0 (answers are complex)
L.
Imaginary Numbers – Simplify

41.
(-5 + 2i)(3 + 4i)    42.  (5i)2
 43.
(3 + 2i) – (7 - 6i)     43b.  
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M.
Factor the following:

44.
16x2 – 40x + 25
45.  27x3 – 125
46. 9x2 – 49
N.
Solve using division of polynomials

47.
5x3 + 18x2 + 7x - 6 divided by x + 3

48.
2x + 4 
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O.
Simplify

49.
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50.
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51.
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P.
Using Zeros

52.
Find the polynomial with zeros of 2, -1 and 0.
53.  Sketch y = 2x3- 4x2- 6x
Q.
Find the inverse
54.
y = 9x – 12

55.
y = 
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